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2M: 83
HE: HEA =MEY IM(BYLS/HILSAY)
Sl HEA SMNE FIIDH CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
202 Od4dl 6,000 6,000 0
01 = LH 4 Hl 6,000 6,000 0
O=MBALO AREX 6,000
AU XErE 24 (=2) 1,300,000 0 1,300,000
= 1,000,000
< 300,000
403 MtXISHHE X201 & 1,300,000 0 1,300,000
= 1,000,000
< 300,000
01 XM A=2EE 1,300,000 0 1,300,000
OQHN &SFUHUHXEZ =4 1,300,000
= 1,000,000
< 300,000
toezd SEd(#2Es/UD1) 695,740 413,043 282,697
= 520,300
= 175,440
QAIE A E 2l 695,740 413,043 282,697
= 520,300
= 175,440
SENSSHII 81 ¥ 222t N (22) 55,500 11,880 43,620
= 37,000
< 18,500
307 21201 A 55,500 11,880 43,620
= 37,000
< 18,500
02 QB AAFEX 55,500 11,880 43,620
O==Xs=ZJJ £X & 2d2eld X 55,500
= 37,000
< 18,500
E=SE HHEAE 22 19,500 21,363 A 1,863
202 O4dl 12,000 12,000 0
01 = LH 4 Hi 12,000 12,000 0
OHiEgx N-&EZ ¥ UFAHRFA 12,000
206 M= Hl 500 300 200
01 M= 4l 500 300 200
OH= ANZMHHAY 2 500
308 XtXIEHH SOl A 7,000 9,063 A 2,063
01 X HHILEES 7,000 9,063 A 2,063
OMdIH2H=0 ZH=2E=s X2 7,000
SF=2YXEA™E =29 3,300 0 3,300
201 £B-2dH| 3,300 0 3,300
01 At 22l 3,300 0 3,300




fN: 23
Bu: 08 SH(BFBE/0])
Chel: QU E A& 22 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
PEEEFEYXEEEEE 3,300
H=AU BE2AIE(=2) 86,240 151,200 A 64,960
2 77,000
< 9,240
403 MtXISHHE X201 E 86,240 151,200 A 64,960
= 77,000
< 9,240
01 AXSHMA=2EE 86,240 151,200 264,960
O=2ged M=sAHU WHMEXH K& 86,240
= 77,000
< 9,240
AR HEILA H2AE(=12) 522,600 0 522,600
= 402,000
< 120,600
308 MtXIEHSOIH 522,600 0 522,600
= 402,000
< 120,600
01 HXNHHBHELS 522,600 0 522,600
O3RN ZJIHX XA 522,600
= 402,000
= 120,600
QIS Z2ZAS 8SH XN (=32) 8,600 8,600 0
= 4,300
= 4,300
201 ¢4l 2,000 2,000 0
= 1,000
= 1,000
01 At 22l 2,000 2,000 0
ORIUSILZAIZ AHUHESFT & 822 M 2,000
= 1,000
< 1,000
301 et A= 6,600 6,600 0
= 3,300
< 3,300
09 &AL HIZB A S 6,600 6,600 0
Ofiztgis &y QIz2tel Adl 24t 6,600
= 3,300
< 3,300
MESA L (BZEES/HIIZE) 22,008,426 20,938,972 1,069,454
= 15,210,100
< 6,798,326
HEH W= =X 5,257,576 5,157,676 99,900
= 4,405,600
< 851,976
SHE L StRMI FHEH(2D) 592,500 592,500 0




fN: 23
M MEsd N (BEES/HIIS)
S MEA HII2 EE2X™e (&)
SA - BB B () - MM - BES Ol &t o San HmEET
= 525,000
< 67,500
403 X SHHS =0l & 592,500 592,500 0
= 525,000
< 67,500
01 XM A2E X 592,500 592,500 0
Odt&at= FatAr 592,500
= 525,000
< 67,500
HOI29 ¢t3F XHel 385,600 324,600 61,000
202 oddl 7,600 7,600 0
01 SLHOYI 7,600 7,600 0
OXE=g &8s HRFX 7,600
308 A EHHSOIA 378,000 317,000 61,000
01 HIXNHHBHELS 378,000 317,000 61,000
oZFSITAIL 294 378,000
Hs2%2)I] =HAH2AMYE 22 (2HAENA) 120,776 82,576 38,200
403 UtXSHHSA=0l& 120,776 82,576 38,200
02 BI|1 2SO0l CHSH At 2 X CH & AF I 120,776 82,576 38,200
OsALYE, ST =HAE 223 120,776
SH0IE MelXa(=21) 3,477,600 3,477,600 0
= 3,477,600
403 MHXISHE X201 & 3,477,600 3,477,600 0
= 3,477,600
01 XM A=2EE 3,477,600 3,477,600 0
OL-=&d0lE Meldl X& 3,477,600
= 3,477,600
sSEMHHE =243 XA (22) 220,000 220,000 0
= 220,000
308 XtXIEHHSOIA 220,000 220,000 0
= 220,000
01 HXNHHBHEELS 220,000 220,000 0
SEHHE =8 X& 220,000
= 220,000
SSdotE 5 XNA(=1) 311,100 434,400 A 123,300
= 183,000
< 128,100
403 X SHHSA=0l& 311,100 434,400 A 123,300
= 183,000
= 128,100
01 HXSHMA2E X 311,100 434,400 A 123,300
O=ZEHHY ZsdotE &= 311,100




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 183,000
= 128,100
NNeE 2435 A Y 120,000 0 120,000
403 XX SHHS K201 & 120,000 0 120,000
01 XIS RS2 X 120,000 0 120,000
OXNIMEZ SH3 MY 120,000
22otRA AX AFY 30,000 0 30,000
403 XX SHHS K20 & 30,000 0 30,000
01 XIS A=Z2E X 30,000 0 30,000
OZ22otA &X & X &2 30,000
HIIS2XH2lAIEEE 16,750,850 15,740,796 1,010,054
= 10,804,500
= 5,946,350
M| AZAIE EX(21) 2,871,600 3,400,000 A 528,400
= 1,748,000
= 1,123,600
403 XX SRS K20 & 2,871,600 3,400,000 A 528,400
= 1,748,000
= 1,123,600
01 XIS A =2E X 2,871,600 3,400,000 A 528,400
OA2AHE_Bt 2,121,600
= 1,248,000
= 873,600
OALZUAE_= A3 750,000
= 500,000
& 250,000
HQIAMOHE X EHl AP (=21D) 5,544,500 4,914,000 630,500
= 4,265,000
& 1,279,500
403 XX SHHS K20 & 5,544 /500 4,914,000 630,500
= 4,265,000
& 1,279,500
01 XIS A=Z2E X 5,544 /500 4,914,000 630,500
OHIKIMIHE XN EH L =sdHEgX =4 5,544,500
= 4,265,000
= 1,279,500
SIASHXNRH0IRILAS AIE (=) 607,000 0 607,000
= 500,000
o= 107,000
403 XX EHHS K20 & 607,000 0 607,000
= 500,000
=} 107,000
01 MXSHHXNE2EE X 607,000 0 607,000
ORIISLHANKAHIOILQIA S AFS (X & 5}) 607,000




2N
X ZH -
L= B

el

- _ _ RE]
CEE B (BH) - HBAY - BAS %Ei HR=2
= 500,000
& 107,000
METIRAS 2=4HEH X XN (=Z1D) ,040,000 0 2,040,000
= 1,200,000
= 840,000
403 XX SHHS K20 & ,040,000 0 2,040,000
= ,200,000
= 840,000
01 XIS A2E X ,040,000 0 2,040,000
OME A3 £=HME AX ,040,000
= 1,200,000
=} 840,000
SHEHIISH2AIYE &X(=21) 4,969,500 4,065,046 904,454
= 2,539,000
= 2,430,500
403 XX SHHS K20 & 4,969,500 4,065,046 904,454
= 2,539,000
= 2,430,500
01 XIS A=2E X 4,969,500 4,065,046 904,454
OsHEZHIIS XK AIE &X 4,969,500
= 2,539,000
o= 2,430,500
=2 SyotY &X XK (=21) 718,250 607,750 110,500
= 552,500
o= 165,750
403 XX S M S K201 A 718,250 607,750 110,500
= 552,500
o= 165,750
01 AIXISHHMA2E X 718,250 607,750 110,500
OMEMY D 2elHis HEAE &X 718,250
= 552,500
& 165,750
st ASH(BFEBS/HIIS) 7,000 0 7,000
lsst st e s4 F& 7,000 0 7,000
oY 4 MEIH X4 4,000 0 4,000
201 gBt2Ay| 4,000 0 4,000
01 AP 2t 2| H| 4,000 0 4,000
o=taNMYE B4 L oG 2Y 4,000
X MO SHAHAMH =M JlEt XM 3,000 0 3,000
202 o4 Hl 3,000 0 3,000
01 2L HI 3,000 0 3,000
osAMY S =X 3,000
NASALSN (BFHABS/XA) 10,359,072 12,988,714 N2,629,642




2M: 83
M NASABNH(BZES/KH)
ol RolEE SR U AM HE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 5,085,000
Xl 2,370,000
= 2,904,072
Noed 28 2 Al &3 6,521,572 8,962,214 A2,440,642
= 2,520,000
Xl 2,370,000
=) 1,631,572
ANoHsZEd 0lgAE 24 (=1) 2,886,000 4,952,500 A 2,066,500
X 2,220,000
< 666,000
403 MHXSHHSA=0l& 2,886,000 3,802,500 A916,500
Xl 2,220,000
< 666,000
01 XM A=E X 2,886,000 3,802,500 A 916,500
OZd stetE SX MEH23AI4 1,586,000
Xl 1,220,000
< 366,000
oglgd A (sA)dH HE 520,000
Xl 400,000
< 120,000
OSH 22l O=Z Ygged=z 24 520,000
Xl 400,000
< 120,000
O© 14 GeoPark =&AL 260,000
X 200,000
< 60,000
HSAE & 2te] 207,000 307,000 100,000
202 Odl 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
OXNHEZZ0F R=2 7,000
307 eIzl & 150,000 150,000 0
05 RIZteE = 150,000 150,000 0
OXgasd 24 150,000
308 XtXIEHH SOl A 50,000 150,000 100,000
01 AXHHILEES 50,000 150,000 100,000
OAsA= HEHFAEHXH 22| 50,000
SN IS gL E 24 (=D) 1,440,000 1,860,000 A 420,000
= 1,200,000
< 240,000
403 MHXSHHSA=0l& 1,440,000 1,860,000 A 420,000
= 1,200,000
< 240,000
01 HXSHMA=E X 1,440,000 1,860,000 A 420,000
OWMSH2t MEH23ELZ 480,000
= 400,000




SN B2
M NASABNH(BZES/KH)
ol RolEE SR U AM HE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 80,000
OEitg dH=sge=2 480,000
= 400,000
< 80,000
OosZMet deld 480,000
= 400,000
< 80,000
DMZ MERAX S FRWF(=D) 325,000 325,000 0
2 250,000
< 75,000
308 A EHHSOIA 325,000 325,000 0
= 250,000
< 75,000
01 HXNHHBHELS 325,000 325,000 0
OMZ =3 XA F2uxg & 28 325,000
= 250,000
< 75,000
DMZ MEHHEXN WEEE(21) 300,000 400,000 A 100,000
= 200,000
< 100,000
308 XXM SO A 300,000 400,000 A 100,000
2 200,000
= 100,000
01 AXHHBLEES 300,000 400,000 A 100,000
OSt=DMZE st dBSA DT ] X2 300,000
= 200,000
< 100,000
HEMS MBS J&EX =S)/(=22) 434,286 0 434,286
= 400,000
= 34,286
403 A X EHHS =0l A 434,286 0 434,286
= 400,000
< 34,286
01 X SHHA2E= 434,286 0 434,286
O0IANE MEH=E SAAZ 434,286
= 400,000
< 34,286
MEHZZNY NE 2 S4(21) 260,000 260,000 0
2 200,000
< 60,000
308 X EHHSOIA 260,000 260,000 0
= 200,000
< 60,000
01 HIXNHHNBMNELS 260,000 260,000 0
OdH22Xsd XE ¥ w4 260,000
= 200,000




2N
X ZH -
L= B
el

&2
NEEELRICEEEYba:)
TNAEE BH U AL S

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| = 50,000
A SFNKTIZ )Y 2A (=) 314,286 285,714 28,572
= 220,000
< 94,286
307 2Iztol ™ 314,286 285,714 28,572
= 220,000
< 94,286
02 PIZHEHAHE X 314,286 285,714 28,572
OdA4E gZus ZzY X 314,286
= 220,000
< 94,286
ZRAT A2 MEME us 25,000 0 25,000
307 2Izt0ol A 25,000 0 25,000
02 RIZFE MM E X 25,000 0 25,000
OMEIME ¥ EAdnsEa N8l X 25,000
MEH =016 =& (=221) 255,000 510,000 A 255,000
Xl 150,000
< 105,000
403 Mt S E X201 & 255,000 510,000 A 255,000
Xl 150,000
< 105,000
01 X SHHMA 28X 255,000 510,000 A 255,000
OMEI=0IH =4 255,000
Xl 150,000
= 105,000
Azl EHH 24Es X& 10,000 10,000 0
307 2Iztol ™ 10,000 10,000 0
02 It HAHEE 10,000 10,000 0
OAMalEtH 2d&8s X 10,000
A2 SANTA ASEZZ208 2Y(=1) 65,000 52,000 13,000
= 50,000
< 15,000
308 XXM SO0 A 65,000 52,000 13,000
= 50,000
< 15,000
01 IXNHHBNEES 65,000 52,000 13,000
OEAME SXEA AE5=Z20H X 65,000
= 50,000
< 15,000
OrME - A2 25 2t 3,837,500 4,026,500 A 189,000
= 2,565,000
< 1,272,500
OrM=E2 Tolloe(=22) 742,000 708,000 34,000
= 610,000




2M: 33
Ha: NAHABH(BIRS/NA)
Sl DS - A2 25 el (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 132,000
403 XX SHHS K20 & 742,000 708,000 34,000
= 610,000
= 132,000
01 XIS A=Z2E X 742,000 708,000 34,000
OO0t S = Il ool &t 742,000
= 610,000
& 132,000
MESCIAdS 2elAH XN} (2D) 88,000 88,000 0
= 60,000
& 28,000
308 MXISHMSOIA 88,000 88,000 0
= 60,000
& 28,000
01 IXHHIMNEXTZ 88,000 88,000 0
OMICIYY 2te| H < 88,000
= 60,000
= 28,000
OfMEE RX2LMdEH 22 (=21) 400,000 400,000 0
= 120,000
= 280,000
307 2I2t0| & 400,000 400,000 0
= 120,000
= 280,000
02 DIZIEAAIE E X 400,000 400,000 0
O0MEs X2 H 2Y 400,000
= 120,000
= 280,000
RME SRAAMH(=2D) 1,495,000 1,495,000 0]
= 1,150,000
& 345,000
403 XX SRS K20 & 1,495,000 1,495,000 0
= 1,150,000
& 345,000
01 XIS A2E X 1,495,000 1,495,000 0
ORNHNE =AY 1,495,000
= 1,150,000
= 345,000
Ol = - A2 B35 150,000 320,000 A 170,000
308 XX SHHSOIH 150,000 320,000 A 170,000
01 IXHHIMNEEXTZ 150,000 320,000 A 170,000
O0IM=Z2 T4 X 150,000
MEfH DRSS HHAIL 150,000 150,000 0
308 XAXIEHMSOIA 150,000 150,000 0




2M: 83
M NASABNH(BZES/KH)
Sl DS - A2 25 el (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 150,000 150,000 0
OMEHH REE HMAAL 150,000
OlSHYR MEfWtE MA(=1) 812,500 812,500 0
= 625,000
< 187,500
308 XXM SOIA 812,500 812,500 0
= 625,000
< 187,500
01 AXHHILEES 812,500 812,500 0
ofisd €3 &2 HAZ MA 812,500
= 625,000
S 187,500
A2 2288 2o (BFES/BZESLLH) 268,000 1,287,100 A 1,019,100
= 100,000
< 168,000
= TE3¥ 2e 268,000 1,287,100 A 1,019,100
= 100,000
= 168,000
= -EE3¥ 22 2 22 18,000 13,100 4,900
201 et 6,000 5,000 1,000
01 At 22l 6,000 5,000 1,000
O02¥ A¥g 24 6,000
202 O4dl 8,000 8,100 A 100
01 = LH 4 Hi 8,000 8,100 A 100
oz zel gR=a 8,000
301 et a = 4,000 0 4,000
09 AL HI B2 A S 4,000 0 4,000
OZ3 33 STAA 4,000
NEZ2 2L (=22) 150,000 174,000 224,000
= 100,000
< 50,000
201 Let24dy| 30,000 40,000 210,000
= 15,000
< 15,000
01 At 22/l 30,000 40,000 A 10,000
Oos2s M& & MEUHE EddMd =5 30,000
= 15,000
< 15,000
202 Odl 15,000 14,000 1,000
= 7,500
< 7,500
01 = LH o4 1l 5,000 0 5,000
OXNEZSH BHEEA S 5,000
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2M: 83
X E: BHE
L= B
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